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() ==& ZH| 325,510 7| M|
(3) =22l 117,600
(4) 24tH| 8,100
(5) S4lH| 1,174,864| 25 & AIO|E 2| % HatH|
(6) 22 ZH| 133,890
(7) B SH| 35,160
(8) = A Ql2fH| 36,000
9 HE*xt= 414,040
(10) XlgT=& 1,535,375
(11) XSS Ty| 893,600) & At M= AtE M| Zf
(12) =M Y| 8,500
2. AE29y| 98,449,073
7t At el | 78,071,549
(1) ZAHH|(AFRiH]) 2,932,400 2%t & EED| ZAHHIE
() E=(ArgH]) 550,000
(3) =% (ALREH]) 62,820,710
(4) ACHE ™ = (A H]) 6,176,434
(5) E| &= 0 (AFRiH]) 5,592,005
Lt At AtH| 17,690,511
(1) 22| (AFRiH]) 668,410
(2) HAFZIZHH|(AFRH]) 1,796,950
(3) ArFEEH|(AFH]) 402,330
(4) S=TH| 2| (AFRiH]) 279,591
(5) 2HHH|(AFRH]) 645,520
(6) HE L TIZH|(AFRiH]) 487,750
(7) =M QI H[(AFiH]) 4,004,000 T?EHOJEEW HIZ (512808 d)
T Z I A2 M2 (A732HR), 7IEHALZ
(8) OfH| Wl SH|(AFRIH]) 840,600
(9) H=THe[H|(AFRH]) 1,949,400
(10) A= LXL= (AFRH]) 4,365,960
(11) SAH|(AFRH]) 2,000,000|1 2%t B ZXHH|
C}. S EALAH| 2,687,013
(1) SEZH|ZH|(AFEH]) 2,687,013 ?HI?P%ﬁI&(%BOB%)
HO|ASZ HH|(2250HR) &
VI. 7|E} 23,430,567
(1) B7tMltiEa2l & 569,709
() HIZS| 5 1,900,000|2! ZT2HE 39
3) dl==2| ZH 960,858
@ TR =2 A 20,000,000|CHE 2 Atst
g A 138,794,433
<X Xt > 14,990,934
<X (@Ol > 0
OR== 827,220
) o=z 14,163,714
g A 14,990,934




